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1| 2BE ;@F ,A';iﬁ FRE 1.3 ha ha |FR1E 49 ha ha 1
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2| BE EHh S+ 0.1 ha ha SR BF 5+ 0.1 ha ha 2
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Eh B+ FihE R+
3| BE B E=E 0.7 ha ha |FEERE=+ 0.7 ha ha 3
FriE TR1E
4| BE %jﬁﬁ’ﬁ" 1 ha ha fg:%i‘?’§+ 1 ha ha 4
5| 2BE TREEE 1 ha ha |FEZ%E1E 1 ha ha 5
6| EE FRiE 0.3 ha ha |FE/E 0.3 ha ha 6
71| 2BE TREEE 5.9 ha ha |FEZ%E1E 26.1 ha ha 7
8| RE TREFEE 0.8 ha ha (TEE$E/E 1 ha ha 8
9| EE TRELEE 0.8 ha ha (TEE£E1F 2.6 ha ha 9
10 2BE %%%,z’;‘i 0.1 ha ha %}i’;ﬁi 0.1 ha ha 10
11| ZEE ?ﬁ%ﬁi 0.8 ha ha %%ﬁ’i 0.8 ha ha 11
12| RE TRZHEE 3.1 ha ha |FEZ$E1E 3.1 ha ha 12
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14| FIAE ;‘_E"HE’ 1.3 ha ha ;‘:é"”ﬁ 1.3 ha ha 14
15| FIRH gﬂi+¥i‘? 2.5 ha ha gﬂs-i_ﬁ 2.6 ha ha 15
16| 2BE FEthFr 1.2 ha ha |EEHhEF 1.2 ha ha 16
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20( FIFRE FRiE 1.3 ha ha |FE4E 1.3 ha ha 20
21| RE REH(E) 0.2 ha ha [BR#H(3Y) 0.2 ha ha 21
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35| EE EHh P 0.5 ha ha &t B3 0.5 ha ha 35
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36| PRE = 1.6 ha ha = 1.6 ha ha 36
37| RE R = 0.3 ha ha [fEEXE= 0.3 ha ha 37
38| RE FEthFr 1.1 ha ha |EhFF 5 1.1 ha ha 38
TRiE+=458 TEiE+%=48
1’53‘%?&- 1’?:&%&-
_— Wi REX =)
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